

HODOR

RFQ COPY

Comade, Inc.

Irvine, CA 92614

(949) 474-0160

TYPE NAME/ADDRESS HERE

17915 Sky Park Circle, Suite B

State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation ANC5614

‱⊛Al	DRESS CORRE	SPONDENCE	TO ATTENTIO	VOE
тони .	ABBOTT			
204-5	58-2544			

ANTHONY CORRECTIONAL CENTER BOX N-1, HC 70

ROUTE 92 (NEOLA) WHITE SULPHUR SPRINGS, WV 24986 304-536-4151

DATE PRIN 07/21/	2009	(E)	IMS OF SAL	E	SHIP V	A		F.O.B		FREIGHTTERMS
BID OPENING DATE	:	08/05/ ITTY		CAT)PF	ENING TIME	01	:3.0PM
LINE	SACAN		UOP	CAT NO	ITEM NUN	IBEH		UNIT PRICE		AMOUNT
001		1	LS	,	984-36-01-	-003				
	INMATE		VITS							
				:						
		CORR	ECTION	VAL C	ENTER, WHI			SUITS FOR THE JR SPRINGS,	C	
					L BE PIGO VCIES - SI			BY OTHER		
	EXHIBIT	. 3								
	NECESSA ORIGINA NOT EXC	R UNTI ARY TO CEED T	SUCH OBTAI TRACT	. ANI I "REA IN A I THI (12)	EXTENDS ASONABLE THE CONTRACT TREASONATION MONTHS.	FOR A I TIME" TH ACT OR F ABLE TIM DURING	ER IÈR IE'' TE''	EFFECTIVE OR COLOR OF ONE (REAFTER AS IS IEW THE PERIOD SHALE PERIOD SHALE REASONAER CACT FOR ANY	1 ; .L	
	REASON WRITTEN		1 1	THE	DIRECTOR	OF PURC	HA	SING 30 DAYS	!	REGEWED
	IN THIS	CONT	RACT I	OCUMI	NT, THE 1	ERMS,	ON	ELSEWHERE DITIONS AND		, 2009 aug -5 am 10: 14
	CONTRAC	T.			FIRM FOR					WV PURCHASING DIVISION
	WRITTEN	CONS	IO TN	THE	SPENDING	UNIT AN	D		ŧ	
	Days Pr	ZIOR TO	THE	EXPI	ATION DAT	E. SUC	H	HIRTY (30) RENEWAL SHAL TIONS OF THE		
SIGNATURE (X 2(1)	()//		SEERE	VERSE SIDE FOR T	FRMS AND COT TELEPHONE 9			ATE	8/4/2009
TILE Presiden	100 M		EIN 33-	1013311		· · · · · · · · · · · · · · · · · · ·				
- Fresiden	.	ľ	33~	TO TO DI	.			AUURESS CHAP	iGES	TO BE NOTED ABOVE

GENERAL TERMS & CONDITIONS REQUEST FOR QUOTATION (RFQ) AND REQUEST FOR PROPOSAL (RFP)

- 1. Awards will be made in the best interest of the State of West Virginia.
- 2. The State may accept or reject in part, or in whole, any bid.
- 3. All quotations are governed by the West Virginia Code and the Legislative Rules of the Purchasing Division.
- 4. Prior to any award, the apparent successful vendor must be properly registered with the Purchasing Division and have paid the required \$125 fee.
- 5. All services performed or goods delivered under State Purchase Order/Contracts are to be continued for the term of the Purchase Order/Contracts, contingent upon funds being appropriated by the Legislature or otherwise being made available. In the event funds are not appropriated or otherwise available for these services or goods, this Purchase Order/Contract becomes void and of no effect after June 30.
- 6. Payment may only be made after the delivery and acceptance of goods or services.
- 7. Interest may be paid for late payment in accordance with the West Virginia Code.
- 8. Vendor preference will be granted upon written request in accordance with the West Virginia Code.
- 9. The State of West Virginia is exempt from federal and state taxes and will not pay or reimburse such taxes.
- 10. The Director of Purchasing may cancel any Purchase Order/Contract upon 30 days written notice to the seller.
- 11. The laws of the State of West Virginia and the *Legislative Rules* of the Purchasing Division shall govern all rights and duties under the Contract, including without limitation the validity of this Purchase Order/Contract.
- 12. Any reference to automatic renewal is hereby deleted. The Contract may be renewed only upon mutual written agreement of the parties.
- 13. BANKRUPTCY: In the event the vendor/contractor files for bankruptcy protection, the State may deem this contract null and void, and terminate such contract without further order.
- 14. HIPAA BUSINESS ASSOCIATE ADDENDUM: The West Virginia State Government HIPAA Business Associate Addendum (BAA), approved by the Attorney General, and available online at the Purchasing Division's web site (http://www.state.wv.us/admin/purchase/vrc/hipaa.htm) is hereby made part of the agreement. Provided that, the Agency meets the definition of a Cover Entity (45 CFR §160.103) and will be disclosing Protected Health Information (45 CFR §160.103) to the vendor.
- 15. WEST VIRGINIA ALCOHOL & DRUG-FREE WORKPLACE ACT: If this Contract constitutes a public improvement construction contract as set forth in Article 1D, Chapter 21 of the West Virginia Code ("The West Virginia Alcohol and Drug-Free Workplace Act"), then the following language shall hereby become part of this Contract: "The contractor and its subcontractors shall implement and maintain a written drug-free workplace policy in compliance with the West Virginia Alcohol and Drug-Free Workplace Act, as set forth in Article 1D, Chapter 21 of the West Virginia Code. The contractor and its subcontractors shall provide a sworn statement in writing, under the penalties of perjury, that they maintain a valid drug-free work place policy in compliance with the West Virginia and Drug-Free Workplace Act. It is understood and agreed that this Contract shall be cancelled by the awarding authority if the Contractor: 1) Fails to implement its drug-free workplace policy; 2) Fails to provide information regarding implementation of the contractor's drug-free workplace policy at the request of the public authority; or 3) Provides to the public authority false information regarding the contractor's drug-free workplace policy."

INSTRUCTIONS TO BIDDERS

- 1. Use the quotation forms provided by the Purchasing Division.
- 2. SPECIFICATIONS: Items offered must be in compliance with the specifications. Any deviation from the specifications must be clearly indicated by the bidder. Alternates offered by the bidder as EQUAL to the specifications must be clearly defined. A bidder offering an alternate should attach complete specifications and literature to the bid. The Purchasing Division may waive minor deviations to specifications.
- 3. Complete all sections of the quotation form.
- 4. Unit prices shall prevail in case of discrepancy.
- 5. All quotations are considered F.O.B. destination unless alternate shipping terms are clearly identified in the quotation.
- 6. BID SUBMISSION: All quotations must be delivered by the bidder to the office listed below prior to the date and time of the bid opening. Failure of the bidder to deliver the quotations on time will result in bid disqualifications: Department of Administration, Purchasing Division, 2019 Washington Street East, P.O. Box 50130, Charleston, WV 25305-0130



NENDOR

TITLE

RFO COPY

TYPE NAME/ADDRESS HERE

Irvine, CA 92614

(949) 474-0160

Comade, Inc.

State of West Virginia Department of Administration Quotation Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

17915 Sky Park Circle, Suite B

FEIN

33-1013311

Request for REGINDINGERS

ANC5614

JOHN ABBOTT B04-558-2544

ANTHONY CORRECTIONAL CENTER ØI-₽ BOX N-1, HC 70

ROUTE 92 (NEOLA) WHITE SULPHUR SPRINGS, WV 24986 304-536-4151

ADDRESS CHANGES TO BE NOTED ABOVE

DATE PRINTED TERMS OF SALE SHIP VIA 07/21/2009 BID OPENING DATE: 08/05/2009 BID OPENING TIME 01:30PMQUANTITY UOP ITEM NUMBER AMOUNT LINE UNITABICE priginal contract and shall be limited to two (2) one (1) YEAR PERIODS. CANCELLATION! THE DIRECTOR OF PURCHASING RESERVES THE right to cancel this contract immediately upon written NOTICE TO THE VENDOR IF THE COMMODITIES AND/OR SERVICE supplied are of an inferior quality or do not conform to the specifications of the bid and contract herein. open market clause: the director of purchasing may AUTHORIZE A \$PENDING UNIT TO PURCHASE ON THE OPEN MARKET, WITHOUT THE FILING OF A REQUISITION OR COST ESTIMATE, ITEMS SPECIFIED ON THIS CONTRACT FOR mmediate delivery in emergencies due to unforeseen causes (including but not limited to delays in transportation or an unanticipated increase in the volume OF WORK.) quantities: quantities listed in the requisition are APPROXIMATIONS ONLY, BASED ON ESTIMATES SUPPLIED BY THE STATE SPENDING UNIT. IT IS UNDERSTOOD AND AGREED THAT THE CONTRACT SHALL COVER THE QUANTITIES ACTUALLY prdered for belivery during the term of the contract, Whether more or less than the quantities shown. ORDERING PROCEDURE: SPENDING UNIT(S) SHALL ISSUE A WRITTEN STATE CONTRACT ORDER (FORM NUMBER WV-39) TO THE VENDOR FOR COMMODITIES COVERED BY THIS CONTRACT. THE ORIGINAL COPY OF THE WV-39 SHALL BE MAILED TO THE VENDOR AS AUTHORIZATION FOR SHIPMENT, A SECOND COPY MAILED TO THE PURCHASING DIVISION, AND A THIRD COPY. RETAINED BY THE SPENDING UNIT. IN THE EVENT THE VENDOR/CONTRACTOR FILES BANKRUPTCY: FOR BANKRUPTCY PROTECTION, THE STATE MAY DEEM THE ONTRACT NULL AND VOID AND TERMINATE SUCH CONTRACT

SEE REVERSE SIDE FOR TERMS AND CONDITIONS SIGNATURE TELEPHONE DATE 949 474 -0160 8/4/2009



700CZM<

State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130
Charleston, WV 25305-0130

Request for Quotation

REQ NUMBER
ANC5614

PAGE 3

ADDRESS:CORRESPONDENCE TO ATTENTION OF
JOHN ABBOTT
804-558-2544

RFQ COPY
TYPE NAME/ADDRESS HERE

Comade, Inc.

17915 Sky Park Circle, Suite B
Irvine, CA 92614
(949) 474-0160

ANTHONY CORRECTIONAL CENTER.
BOX N-1, HC 70

ROUTE 92 (NEOLA)
WHITE SULPHUR SPRINGS, WV
24986
304-536-4151

DATE PRINTED TERMS C	FSALE SHIP	VIA	FOB.	FREIGHTTERMS
07/21/2009				
BID OPENING DATE: 08/05/200		BID OPENIN	G TIME 01;	30PM
LINE QUANTITY U	OP CAT TEM NU	MBER	UNITPRICE	AMOUNT
WITHOUT FURTHER	R ORDER.			•
			•	
	CONDITIONS CONTAI			
	ANY AND ALL SUB			
CONDITIONS WHIC	H MAY APPEAR ON	ANY ATTACHED	PRINTED	
POCUMENTS SUCH	AS PRICE LISTS,	ORDER FORMS,	SALES	
AGREEMENTS OR M	IAINTENANCE AGREE	MENTS, INCLUD	ING ANY	
PHECIRONIC MEDI	TUM SUCH AS CD-RO	м.		
REV. 05/26/2009				
REV. 03/26/2009	'			
EXHIBIT 4				
LOCAL GOVERNMEN	T BODIES: UNLE	SS THE WENDOR	TAIDTCAMEG	
IN THE BID HIS	REFUSAL TO EXTEN	DO THE PUTCES	TRDICALES	
AND CONDITIONS	OF THE BID TO CO	INTY STROOT.	MINITOTOXT	
AND OTHER LOCAL	GOVERNMENT BODI	ES THE BID S	HATT EYTEM	
TO POLITICAL SU	BDIVISIONS OF TH	E STATE OF WE	GAL TATISMO	
VIRGINIA. IF T	HE VENDOR DOES N	OT WISH TO EX	TEND THE	
PRICES. TERMS.	AND CONDITIONS O	F THE BID TO	AT.T.	
POLITICAL SUBDI	VISIONS OF THE S	TATE THE VEN	DOR MIIGT	
CLEARLY INDICAT	E SUCH REFUSAL I	V HTS BTD S	HOH PERHGAT.	
SHALL NOT PREJU	DICE THE AWARD O	F THIS CONTRA	CT TN ANY	
MANNER.			OT THE UTIL	
REV. 3/88	THE PARTY OF THE P			
, i				•
purchasing card	A¢CEPTANCE: TH	E STATE OF WE	ST VIRGINIA	
CURRENTLY UTILI	ZE\$ A V‡SA PURCH	ASING CARD PRO	OGRAM WHIC	
IS ISSUED THROU	GH A BANK. THE :	SUCCESSIOL VE	NDOR	
MUST ACCEPT THE	STATE OF WEST V	IRGINIA VISA	PURCHASING	
¢ard for paymen	T OF ALL ORDERS 1	PLACED BY ANY	STATE	
AGENCY AS A CON	DITION OF AWARD.			
		1		
SIGNATURE	SEE REVERSE SIDE FOR T	Formati personal di anti-	- Inam	
1000 Saule		PELEPHONE 949 474 (0160 DATE	8/4/2009
TITLE President . FEIN	33-1013311		ADDRESS CHANGES 1	TO BE NOTED ABOVE



ACC ZHA

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for m Quotation

DATE PRINTED TERMS OF SALE SHIP VIA F.O.B. FREIGHT TERMS

PAGE	
4	

	ADDRESS CORRESPONDENCE TO ATTENTION OF
	,
	TOHN ABBOTT
•	R04-558-2544

ANTHONY CORRECTIONAL CENTER

RFQ COPY TYPE NAME/ADDRESS HERE Comade, Inc.

> 17915 Sky Park Circle, Suite B Irvine, CA 92614

(949) 474-0160

ROUTE 92 (NEOLA) WHITE SULPHUR SPRINGS, WV 24986 304-536-4151

BOX N-1, HC 70

07/21/2009 BID OPENING DATE: 08/05/	0000			
LINE QUANTITY	UOP CAT.	ITEM NUMBER	OPENING TIME UNIT PRICE	O1:30PM AMOUNT
DEPARTM PURCHAS BUILDIN 2019 WA	MUST BE SENT OF ADMING DIVISING 5	TREET, EAST		
		THIS INFORMATION TO MAY NOT BE CONS		OF
BUYER:		JOHN ABBOTT (32)	1.	
RFQ. NO.:		ANC5614		
#ID OPENING	DATE:	08/05/2009		
BID OPENING '	TIME:	1:30 PM	THE LEW COT LOSS THE	un u
TO CONTACT Y		MBER IN CASE IT	IS NECESSARY	
CONTACT PERSO		PRINT CLEARLY):	NAME PROMIS	
SIGNATURE -	OCE, IS	ITEI EPHONE		DATE 8/4/2009
TITLE President F	EIN 33-	1013311	ADDRESS CHA	NGES TO BE NOTED ABOVE



DOCUM

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

ANC5614

PAC	E CO
	5

:ADDRESS:COHRE	SPONDENCE TO ATTENTION OF
JOHN ABBOTT	
804-558-2544	

RFQ COPY TYPE NAME/ADDRESS HERE

Comade, Inc. 17915 Sky Park Circle, Suite B Irvine, CA 92614 (949) 474-0160 ANTHONY CORRECTIONAL CENTER BOX N-1, HC 70

ROUTE 92 (NEOLA)
WHITE SULPHUR SPRINGS, WV
24986 304-536-4151

DATE PRINTED	TEF	RMS OF SALE	SHIP	VIA	FOB	FREIGHT TERMS
07/21/2009 BID OPENING DATE:						
[0.00000000000000000000000000000000000	_08/05/	2009 I Amelicat			DENING TIME	_01:30PM
LINE	UANTITY	UOP CAT NO:	ITEMNU	IMBER.	UNIT PRICE	AMOUNT
	Contrac	Administrato	× Maggio	Cooton		
			r - Maggie	seaton		
****	* 71177	דכי וחודה האני		7 276		
, , , , , , , , , , , , , , , , , , ,	. TUTO	IS THE EN	OF REQ	ANC5	14 ***** TOT	AL:
	ļ					
j						
				ļ		
100						
T						000
***				1		***************************************
	į					
	-					1 1
					•	
				Ĭ		
SIGNATURE III	4//	SEEREV	ERSE SIDE FOR I	ERMS AND CON	DITIONS	
SIGNATURE		,		TELEPHONE 94	9 474 0160	DATE 8/4/2009
TMLE President	FEI	N 33-10	13311	•	ADDRESS CHA	NGES TO BE NOTED ABOVE

Meets	Spec
<u>Yes</u>	<u>No</u>
XX	
XX	Terminology manufacture with the
XX.	43 miles
XX	
XX	
XX	
XX	
XX	M
XX	Tanaman Andrews Control of the Contr
	XX XX XX XX XX XX

^{*} The jump suits will be screen printed as follows:

Red Jump suits with 2 inch white lettering - ACC QUEST PROGRAM PRICE PAYER

Yellow Jump Suits with 2 inch black lettering - ACC QUEST PROGRAM GAME PLAYER

Postman blue jump suits with 2 inch white lettering-ACC QUEST PROGRAM EVERY DAYER

Gray jump suits with 2 Inch white lettering - ACC QUEST PROGRAM DRAGON SLAYER

	ANGOOT4 -AT		onal Center-Jur	T	** Future Unit Price
	Description	Estimated Initial Order	Unit Price	* Extended Price	for One (1) Ea.
em#	Red-Medium	10	\$ 12.00	\$ 120.00	\$
1.1	Red-Large	20	\$ 12.00	\$ 240.00	\$
1.2	Red-XL	40	\$ 12.00	\$ 480.00	<u> </u> \$
1.3	Red-2x	75	\$ 12.00	\$ 900,00	\$
1.4	Red-3x .	75	\$ 12.00	\$ 700.00	\$
1.5	Red-4x	75	\$ 13.00	\$ 975.00	\$
1.6	Red-5x	60	\$ 13.00	\$ 780.00	\$
1.7	Red-6x	60	s 13.00	\$ 7 <i>8</i> 0.00	\$
1.8	Red-7x	50	s 142s	\$ 712.50	<u> \$</u>
1.9	Red-8x	50	\$ 14.25	\$ 712.50	\$
2	Yellow-Med	10	\$ 12.00	\$ 120.00	\$
2.1	Yellow-large	10	\$ 12.00	\$ 120.00	\$
2.2	Yellow-XL	10	\$ 12.00	\$ 120,00	\$
2.3	Yellow-2x	30	\$ 12.00	\$ 360.00	\$
2.4	Yellow-3x	30	\$ 12,00	\$ 360,00	
2.5	Yellow-4x	75	\$ 13.00	\$ 975.00	\$
2.6	Yellow-5x	65	\$ 13.00	\$ 845.00	\$ \$
2.7	Yellow-6x	30	\$ 13.00	\$ 390.00	\$ \$
2.8	Yellow-7x	20	\$ 14.25	\$ 285.00	
2.9	Yellow-8x	20	\$ 14.25	\$ 285.00	
3	Blue-med	15	\$ 12.00	\$ 180.00	\$ \$
3.1	Blue-large	15	\$ 12.00	\$ 180.00	\$
3,2	Blue-XL	70	\$ 12.00	\$ 3,000.00	\$
3.3	Biue-2x	250		\$ 1,800.00	\$
3.4	Blue-3x	150	\$ 12.00	\$ 1,300,00	\$
3.5	Blue-4x	100	\$ \\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\		\$
3.6	Blue-5x	75	\$ 13.00		\$
3.7	Blue-6x	75	\$ 13.00		\$
3.8	Blue-7x	55	\$ 14.25	\$ 783.75	\$
3.9	Blue-8x	55	\$ 14.25	<u> \$ 783.75</u>	
4	Gray-med	10	\$ 12.00	\$ 120.00	\$
4.1	Gray-Large	55	\$ (2.00	\$ 660.00	\$
4.2	Gray-XL	100	\$ 12.00	\$ 1,200.00	\$
4.3	Gray-2x	120	\$ 12.00	\$ 1,440.00	\$
4.4	Gray-3x	120	\$ 12.00	\$ 1,440.00	\$
		100	\$ 13.00	\$ 1,300,00	\$
4.5	Gray-4x	50	\$ 13.00	\$ 650.00	\$
4.6	Gray-5x	50	\$ 13.00	\$ 650.00	\$
4.7	Gray-6x		\$ 14.25	\$ 641.25	\$
4.8	Gray-7x	45			\$
4.9	Gray-8x	45	18 14.25	\$ 641.25	\$

Bidder / Vendor Informatio	n:	GRAND TOTAL	\$ 30,020,00				
Name:	Comade, Inc.						
Address:	17915 Sky Park Circle, Suite B						
	Irvine, CA 92614						
Phone#:	949 474-0160 CAdmin@comade.com						
Email Address:							
* Multiply your bid price by the estimated initial order quantity							
** Provide a delivered price assuming one (1) of that item is delivered to a location							

.

VENDOR PREFERENCE CERTIFICATE

Certification and application* is hereby made for Preference in accordance with West Virginia Code, §5A-3-37. (Does not apply to construction contracts). West Virginia Code, §5A-3-37, provides an opportunity for qualifying vendors to request (at the time of bid) preference for their residency status. Such preference is an evaluation method only and will be applied only to the cost bid in accordance with the West Virginia Code. This certificate for application is to be used to request such preference. The Purchasing Division will make the determination of the Resident Vendor Preference, if applicable.

Dafa		Title:		
Bidder:	N/A	Signed:		
and acc	curate in all respects; and the s during the term of the cont	at if a contract is issued to Bidder and it tract, Bidder will notify the Purchasing D		
authoriz the requ deemed	es the Department of Revenue t irred business taxes, provided t I by the Tax Commissioner to be	to disclose to the Director of Purchasing appro that such information does not contain the an e confidential.	ed information to the Purchasing Division and priate information verifying that Bidder has paid nounts of taxes paid nor any other information	
requirer against or dedu	ments for such preference, the S such Bidder in an amount not to cted from any unpaid balance o	Secretary may order the Director of Purchasil becomed 5% of the bid amount and that such in the contract or purchase order.	preference has failed to continue to meet the ng to: (a) reject the bid; or (b) assess a penalty penalty will be paid to the contracting agency	
6.	Bidder is a resident vendor wh purposes of producing or distrik continuously over the entire te residents of West Virginia who	buting the commodities or completing the project of the project, on average at least sevent have resided in the state continuously for the	ces, the reserves or the National Guard, it, for ect which is the subject of the vendor's bid and ty-five percent of the vendor's employees are e two immediately preceding years.	
5.	Application is made for 3.5% resident vendor preference who is a veteran for the reason checked: Bidder is an individual resident vendor who is a veteran of the United States armed forces, the reserves or the National and has resided in West Virginia continuously for the four years immediately preceding the date on which the submitted; or,			
4	Bidder meets either the require	resident vendor preference for the reasor ement of both subdivisions (1) and (2) or subd	livision (1) and (3) as stated above; or,	
3.	Bidder is a nonresident vendor affiliate or subsidiary which mainimum of one hundred state employees or Bidder's affiliate continuously for the two years	aintains its headquarters or principal place of e residents who certifies that, during the life of s's or subsidiary's employees are residents of immediately preceding submission of this bid	e residents or is a nonresident vehdor with an of business within West Virginia employing a if the contract, on average at least 75% of the if West Virginia who have resided in the state d; or,	
2.	Bidder is a resident vendor who working on the project being bid immediately preceding submis	d are residents of West Virginia who have resi ssion of this bid; or,	t, on average at least 75% of the employees ided in the state continuously for the two years	
	and which has maintained its h years immediately preceding the	which has an affiliate or subsidiary which emple adquarters or principal place of business wil he date of this certification; or,	oys a minimum of one hundred state residents thin West Virginia continuously for the four (4)	
\$ b	Bidder is an individual resident ing the date of this certification Bidder is a partnership, associa business continuously in West ownership interest of Bidder is I maintained its headquarters of	vendor and has resided continuously in West'; or, ; or, tion or corporation resident vendor and has m Virginia for four (4) years immediately preced held by another individual, partnership, assoc r principal place of business continuously in	Virginia for four (4) years immediately precedaintained its headquarters or principal place of ling the date of this certification; or 80% of the liation or corporation resident vendor who has West Virginia for four (4) years immediately	
1.	Application is made for 2.5%	resident vendor preference for the reason	MICHEUREA.	

*Check any combination of preference consideration(s) indicated above, which you are entitled to receive.

STATE OF WEST VIRGINIA Purchasing Division

PURCHASING AFFIDAVIT

VENDOR OWING A DEBT TO THE STATE:

West Virginia Code §5A-3-10a provides that: No contract or renewal of any contract may be awarded by the state or any of its political subdivisions to any vendor or prospective vendor when the vendor or prospective vendor or a related party to the vendor or prospective vendor is a debtor and the debt owed is an amount greater than one thousand dollars in the aggregate.

PUBLIC IMPROVEMENT CONTRACTS & DRUG-FREE WORKPLACE ACT:

If this is a solicitation for a public improvement construction contract, the vendor, by its signature below, affirms that it has a written plan for a drug-free workplace policy in compliance with Article 1D, Chapter 21 of the *West Virginia Code*. The vendor must make said affirmation with its bid submission. Further, public improvement construction contract may not be awarded to a vendor who does not have a written plan for a drug-free workplace policy in compliance with Article 1D, Chapter 21 of the *West Virginia Code* and who has not submitted that plan to the appropriate contracting authority in timely fashion. For a vendor who is a subcontractor, compliance with Section 5, Article 1D, Chapter 21 of the *West Virginia Code* may take place before their work on the public improvement is begun.

ANTITRUST:

In submitting a bid to any agency for the state of West Virginia, the bidder offers and agrees that if the bid is accepted the bidder will convey, sell, assign or transfer to the state of West Virginia all rights, title and interest in and to all causes of action it may now or hereafter acquire under the antitrust laws of the United States and the state of West Virginia for price fixing and/or unreasonable restraints of trade relating to the particular commodities or services purchased or acquired by the state of West Virginia. Such assignment shall be made and become effective at the time the purchasing agency tenders the initial payment to the bidder.

I certify that this bid is made without prior understanding, agreement, or connection with any corporation, firm, limited liability company, partnership or person or entity submitting a bid for the same materials, supplies, equipment or services and is in all respects fair and without collusion or fraud. I further certify that I am authorized to sign the certification on behalf of the bidder or this bid.

LICENSING:

Vendors must be licensed and in good standing in accordance with any and all state and local laws and requirements by any state or local agency of West Virginia, including, but not limited to, the West Virginia Secretary of State's Office, the West Virginia Tax Department, West Virginia Insurance Commission, or any other state agencies or political subdivision. Furthermore, the vendor must provide all necessary releases to obtain information to enable the Director or spending unit to verify that the vendor is licensed and in good standing with the above entities.

CONFIDENTIALITY:

The vendor agrees that he or she will not disclose to anyone, directly or indirectly, any such personally identifiable information or other confidential information gained from the agency, unless the individual who is the subject of the information consents to the disclosure in writing or the disclosure is made pursuant to the agency's policies, procedures and rules. Vendor further agrees to comply with the Confidentiality Policies and Information Security Accountability Requirements, set forth in http://www.state.wv.us/admin/purchase/privacy/noticeConfidentiality.pdf.

Under penalty of lav						
affirms and acknowle	edges the information	on in this affidavi	t and is in compli	ance with the	requirements as	s stated.
	Comple Jnc.7	$) \cap A$				
Vendor's Name:		11 1/ / .				

Date:

Purchasing Affidavit (Revised 01/01/09)

Authorized Signature: _